How to fly the DME arc approach

Using the ADF or RMI

BY Manny Osias
1. Study the approach well in advance. Take note of things like: flight path, frequencies, special procedures, obstacles, altitude restrictions, V-speeds, aircraft configuration changes, etc. Plan accordingly.

2. Calculate the “lead in” distance for your aircraft. The formula is 10% of your initial    

approach speed, added to the DME arc distance. Using the diagram below, if our initial approach speed is 180 knots, then 10% of 180 knots is 1.8. Add this to the DME arc distance of 9 DME and you get 10.8 DME. This will be the distance where you begin the turn to intercept the DME arc.

3. Five DME before the “lead in” distance, slow the aircraft down to the initial approach   

speed and configure as required (flaps, slats, etc.). Upon reaching 10.8 DME, begin your turn to intercept the 9 DME arc. Keep turning until the ADF/RMI “arrowhead” points 90 degrees left or right (wingtip position) and your DME indicator shows 9 DME.0

4. Once established on the 9 DME arc, keep making small heading corrections as you 

fly, in order to keep the “arrowhead” pointed at the wingtip position (Left using the diagram below). Make the appropriate aircraft configuration changes as you fly the arc. Remember to stay ON the 9 DME arc. Acceptable tolerance is + or – 1 DME.

5. As you fly the arc, the “arrowhead will slowly move toward the final approach 

heading.  Between 5 to 10 degrees (depending on aircraft speed), begin your turn to intercept the final approach course. Your aircraft should more or less be in the final approach configuration with the exception of possibly landing gears and the final flap increment.

6. Once established on final approach, fly as you would any other approach.
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Notes:

If you are using an RMI (2 pointers), make sure you are looking at the correct pointer.

Try not to use a fixed card ADF (one where the compass rose doesn’t move).
